06 03 01

G )
60km
2,519 | 2,519 | o | o | 0 0
H26 H31 H33
33,479 H26)37,261 3,782 (11.3
33479 36186 37261
- H26 H26
846 H26 2,200 K33 1,360 (160%)
846 1820 2206
- H26 H26
66.4% H26  82.3% H33 15.9
66 78 82
4,817 H26) 5,361  H33 544 11.3%
4817 5206 5361
- H26 H26




H29 |H30 [H31 [Ro2 [R03

A11-001 L=0.8km [ I B A B | 708
A11-002 BP L=0.5km [ I B B 579(1.3
A11-003 L=0.9km LI I 62
A11-004 L=0.3km [ I B A B | 722
A11-005 L=0.6km [ I B B 299
A11-006 L=0.1km u 21




H29 |H30 [H31 [Ro2 [R03

AL1-007 L=1.0kn . 120
A11-008 L=0.3kn . 8
[ L[] 2,519 |

2,519|




H29 H30 H31 RO2 RO3
() 162 272 422 207 126
() 0 0 0 0 0
(c=atb) 162 272 422 207 126
[C)) 0 72 232 467 367
(e) 90 112 187 307 304
) 72 232 467 367 189
() 0 193 216 159 0
(h = ct+d-e-f) 0 0 0 0 0
(i = (g+h)/(c+d)) 0 56.1 33.02 23.59 0
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